- = 2z B £ 5
\ L] (pE 401)
il ! | %
| |
(M Y
B ® AF A FERE AT BRI REMRE AR G EE)
PR -
(1) '
Mol
(1) va= 2 v=
: e P
J2gR -V
[m/s] Ma Mg [m/s]
(3) b 411
VA _2
R UA
2 (mMatme) 7]
i 2
(1) va= v =
Ma — Mg 2Ma ‘
A U:‘\
Myt Mg [m/s] Map T Mg [m/s]
2) as= 3)
2(
e m"aaazhﬁx"mﬂso‘s
“/M.S‘ [m/s?]
4 FAH e 5 #wiE f e
, B Mg s g Mg
TC\/JI {mg +mM )R Ve \; (my em eI
[s] RIS [m]
I
WE 401)

OK14(785—19)



& Z ¥ 8 2 B & 5
i H

seam | ‘| % WHE 40D2)
5 !
AF 4 FEE A ER S IRERES AR G RE)
Py ERILERE - Py
N 1 Z | 3
E 5 Py 3P P,
N Vo \/D 3V,
B To 3T, 37T,
(3) ZERMHNE N B EERINT 5B ¢
—2RT, 1—=>2
Q=
5RTo
[J] (7]
(5)_ 4=
15 RT: [ 35RT,
& 3r
L] [A]

I

W 4D2)

OK14(785—20)



= E ZF X % B’

: (E 403)
=t &
(M )
22 ) A0 4 B AR ERENIRERERRETHHER)
PP FLTRE - PR
(Im)
O .,
h S A A 7){73 %
(2) (FE#L)
(P) L e s frs< e E B ENS BT
B <CTFIN S,
3 fa= @ fe=
\/"' U:A \/'(' lUBl
\/ - v\g \/"" ]):r
[Hz] [Hz]
(5) VA — §
V= 2= (V + Usl)
s
[m/s]
(6) (B fEEA) CiL THAZER) GLTHAZER) (BUEREA)
< <
17 - . O q
(m/s] [m/s]
(7) FEREA) GLTHMZETD GLTHEAER) (BEREA)
< ®
: EEEA OES 1O
45 =) < |
[km/h] [km/h]
I
WE 403)

OK14(785—21)




et
4
%
W8
&
B
an

. N E 404)
AF0 4 A REERFIRERE K G HE)
Py BRI EE - P
Vy =
E =
& ER
[v3 vl
Vi =
E E
3 é
[V] [V]
: Vb —
) 2
V] V]
I\

M 4D4)

OK14(785—22)



